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T - E(T)

' = h(T)

turiia  E(T) LLR:  V(T) fhud%h

E(T) = (l/2)22
(I)

t&i%  V(T) = (l/4)2(2"?*'

iCaant.h~  KMni~~el~uu~~au"?~ni5wIm~MAY7LL~UP'ABjnUULLelULT;7  ~~uoiR"u~a?oEii9RM~~~~~~~

Chin57  ~~r~~~~R%sa~Uwaw~s~~~l~  tiiif

%hwih %%4ai %,fil Zi Ri Pi p

flwp n 31 36 -5 3 .375 .49

t 42 38 4 2 ,250 .32

Fl  44 33 11 6 .750 1.15

u 48 36 12 7 .87.5 1.53

D 51 53 -2 1 .125 .16

a 57 49 8 4 .500 .67

ti  62 52 10 5 .625 .89

5.21

~~~~~~~n~~~~~~?n~~~l~~~~~l~~~l~lU13~~~l~l~~~~~2n+1  =2(7)+1  =15

~~iiaFi'lL~~U~uuueln~~l~uu?n  7 Fh&h 0.16,0.32, ..,  1.15, 1.53

&I.&T  + + . .=0.16(O)  0.32(l) . + 1.53(l)

= 4.56

ihs"er a=0.05  ka~n~ROUnlJLiUa  dl~~rvl~U~i7~~~ltl?~K=2"(CI)=2'(0.05)=6dl~~~

ZO' 0.16 0.32 0.49 0.67 0.89 1.15 1.53 dl T
ed 0
miwpblil + + + + + + + 5.21

LR4aunwlu  - + + + + + + 5.05

+ uati - - + + + + + 4.73

KYYUfiAl  z"'  - + + + + + 4.56

t.>lO:L~u~ni'?  T=4.56  ~fhPr!Adtjk%  ~l~n~il~6nl~w~n~~~eit~zjil~n"n~lU~~~~l

b~~~%4Yni3~~~Ui(UdltLUU~aaoEil~aPrln~~  rd$E(T)  LLR: V(T) i&k

E(T) = (l/2)22"'  = (l/2)(5.21) = 2.605

V(T) = (1/4)~(Z'")'  = (1/4)(0.162+0.322+..+1.532}

= 1.3181
Y

Gxib 4.56 - 2.605

z= %ciiii
= 1.70
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x : 0.878 0.647 0.598 2.05 1.06 1.29 1.06 3.14 1.29

Y: 1.83 0.50 1.62 2.48 1.68 1.88 1.55 3.06 1.30

L5lK&il  Zi t9u&R

-.952  1.47 -1.022 -.430 -.620 -590 -.490 ,080 -.OlO

t.La:KGi  uiih4au9(9+l)/2=  45 di  fb%~~1or~17n"erziJW

-1.022 -.987 -.952 -.821 -.806 -.786 -.771 -.756

-.726 -.721 -.691 -.620 -.605 -.590  -.555 -.540

-525 -.516 -.510 -.490 -481 -.471 -.460 -.4375

-.436 -.430 -.4025  -.315 -.300 -.270 -.255 -.250

-.2365  -.2215  -.220 -.205 -.175 -.I715  -.1415  -.OlO

.035 .0685 .080 .1135 .147

&iii 6 = W,=)  = -.460

i)in~i5i~~i~~a=.05~a~n=9t~i~~wun=6~a~k+l-Wan=45+1-6=40

%iihh&rj'u95%  dlMs"u  8 = M,-M20dP)

wLG)s  e s w@o)
-.786  s 8 s -.lOO
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E(S) = bn(N+1)/2  = 3(3)(6+1)/2  = 31.5

V(S) = bn(ti+l)(N-“)/I2  = 3(3)(6+1)(6-3)/12  = 15.75

z =
(S+1/2)-E(S)

6%-
S < E(S)

= (18.5 - 31 .S)n/l5.75  = -3.27

r&l a = .05 CkJfj~atiaaw&y~~~fl  Ho (Z < -1.96)

THE MEANS MUST JUSTIFY THE END.

M. Gandhi





hdo  2* 1.. = 30.33, x2,.  = 37.00, x3.. = 47.83 sjln,‘,wiJ”sYnun55u~~,“Pl5~ulsuKn”o~~~um”J~

F,,,  = 30.33 - 38.39 = -8.06

p*,,  = 37.00 - 38.39 = -1.39

pa.. = 47.83 - 38.39 = 9.44

dl~~n~n”~s”erelqud7ns”uR~~~~~~~5”K~~l5lu  6&h  i

j,,,  = 20 - (-8.06) = 28.06
111

/ E(W,)  = 3(9.17)  = 27.50

V(W,)  = 3(23.81)  (6-3)/(6-l)  = 42.85

E(W) = xE(W,)  = 27.50 + 29.00 + 29.00 = 85.50

V(W) = xV(W,)  = 42.85 + 40.00 + 62.20 = 145.05

Z = (45+0.5  - 85.50) I Afl45.05  = -3.32

l&l  a =.05 e~~~~l~ncltiluuuao\ln7914u  + 1.96 cRlfiusarJor~~l~nt  Ho Kh.&&?t%J

uuunwstou5nflnna”u~~~a~~~
Y
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